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Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m `m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.

 Question Booklet Bar Code Serial No.
àíZ-nw{ñVH$m ~ma H$moS> H«$_ g§»`m
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gm_mÝ` kmZ
General Knowledge

	 1.	 _mM© 2025 _| gwZrVm {d{b`åg Ho$ gmW n¥Ïdr na bm¡Q>Zo dmbo A§V[aj `mÌr H$m Š`m Zm_ h¡ ?
	 (A)	{dŠQ>a ½bmoda	 (B)	 Ooao_r h¡ZgZ	 (C)	 Om°Z ½boZ	 (D)	 ~wM {db_moa
		  What is the name of the astronaut who returned to earth along with Sunita Williams  in March 2025 ?
	 (A)	 Victor Glover	 (B)	 Jeremy Hansen	 (C)	 John Glenn	 (D)	 Butch Wilmore

	 2.	 _mYd amîQ´>r` CÚmZ {Ogo ^maV H$m 58 dm§ ~mK A^`maÊ` Kmo{fV {H$`m J`m, {ZåZ{b{IV _| go {H$g amÁ` _| 
pñWV h¡ ?

	 (A)	_oKmb`	 (B)	 _Ü`àXoe	 (C)	 _{Unwa	 (D)	 _hmamîQ´>
		  Madhav National Park that was declared India’s 58th Tiger Reserve is situated in which of the following 

States ?
	 (A)	 Meghalaya	 (B)	 Madhya Pradesh	 (C)	 Manipur	 (D)	 Maharashtra

	 3.	 {ZåZ{b{IV _| go {H$ZH$mo 2024 _| "^maV aËZ' go gå_m{ZV {H$`m J`m ?
	 a.	E_. Eg. ñdm_rZmWZ
	 b.	Mm¡Yar MaU qgh
	 c.	H$ny©ar R>mHw$a
	 d.	ha_ZàrV qgh
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a	 (B)	 Ho$db a d b	 (C)	 Ho$db a, b d c	 (D)	 Ho$db a, b  d d
		  Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
	 a.	 M. S. Swaminathan
	 b.	 Chaudhary Charan Singh
	 c.	 Karpoori Thakur
	 d.	 Harmanpreet Singh
		  Choose the correct answer from the options given below :
	 (A)	 Only a	 (B)	 Only a and b	 (C)	 Only a, b and c	 (D)	 Only a, b and d

	 4.	 _hmXoB© dÝ`Ord A^`maÊ` {ZåZ{b{IV _| go {H$g amÁ` _| pñWV h¡ ?
	 (A)	_Ü`àXoe	 (B)	 CÎmaàXoe	 (C)	 N>ÎmrgJ‹T>	 (D)	 Jmodm
		  Mhadei Wildlife Sanctuary is located in which of the following states ?
	 (A)	 Madhya Pradesh	 (B)	 Uttar Pradesh	 (C)	 Chattisgarh	 (D)	 Goa

	 5.	 h_mao Xm±V H$m D$nar ^mJ H$R>moa BZo_b go T>H$m ahVm h¡ Omo _w»`V: ~Zm hmoVm h¡ 
	 (A)	H¡$pëe`_ H$m~m}ZoQ> H$m			   (B)	 _¡½Zr{e`_ \$mñ\o$Q> H$m
	 (C)	H¡$pëe`_ \$mñ\o$Q> H$m			   (D)	 H¡$pëe`_ Am°ŠgboQ> H$m
		  Our tooth crown remains capped with hard enamel which is principally made of 
	 (A)	 Calcium Carbonate			   (B)	 Magnesium Phosphate
	 (C)	 Calcium Phosphate			   (D)	 Calcium Oxalate
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	 6.	 EZ.B©.nr. 2020 Ho$ AZwgma _mÜ`{_H$ {dÚmb` {ejm Ho$ AÝVJ©V {H$Z H$jmAm| H$mo em{_b {H$`m J`m h¡ ?
	 (A)	H$jm 6 go H$jm 9			   (B)	 H$jm 4 go H$jm 6
	 (C)	H$jm 5 go H$jm 8			   (D)	 H$jm 6 go H$jm 8
		  Which classes are included in the middle school education according to NEP 2020 ?
	 (A)	 Class 6 to Class 9			   (B)	 Class 4 to Class 6
	 (C)	 Class 5 to Class 8			   (D)	 Class 6 to Class 8

	 7.	 {ZåZ{b{IV _| go {H$gZo g_J« {ejm H$s AdYmaUm H$m à{VnmXZ {H$`m Wm ?
	 (A)	lr Aaq~Xmo			   (B)	 ñdm_r X`mZÝX
	 (C)	ñdm_r {ddoH$mZÝX			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  Who among the following propounded the concept of Integral Education ?
	 (A)	 Sri Aurobindo			   (B)	 Swami Dayanand
	 (C)	 Swami Vivekanand			   (D)	 None of the above

	 8.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
		  gyMr – I		  gyMr – II
	 a.	 {ejH$ {ejm	 I.	 EZ.B©.nr. 2020 H$m AÜ`m` 23
	 b.	 àm¡Úmo{JH$s H$m Cn`moJ	 II.	 EZ.B©.nr. 2020 H$m AÜ`m` 20
	 c.	 ì`mdgm{`H$ {ejm 	 III.	 EZ.B©.nr. 2020 H$m AÜ`m` 21
	 d.	 àm¡‹T> {ejm	 IV.	 EZ.B©.nr. 2020 H$m AÜ`m` 15
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III
		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Teacher education	 I.	 Chapter 23 of NEP 2020
	 b.	 Technology use	 II.	 Chapter 20 of NEP 2020
	 c.	 Professional education	 III.	 Chapter 21 of NEP 2020
	 d.	 Adult education	 IV.	 Chapter 15 of NEP 2020
		  Choose the correct answer from  the code given below :
		  Code :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III

	 9.	 EZ.B©.nr. 2020 _| B©.gr.gr.B©. H$m AW© h¡ 
	 (A)	àma§{^H$ ~më`mdñWm H$s XoI^mb Am¡a {ejm	 (B)	 àma§{^H$ ~MnZ Ho$pÝÐV {ejm
	 (C)	~MnZ H$s CÞV {ejm Ed§ XoI^mb	 (D)	 ~MnZ H$s Hw$eb XoI^mb Ed§ {ejm
		  In NEP 2020, ECCE stands for 
	 (A)	 Early Childhood Care and Education	 (B)	 Early Childhood Centered Education
	 (C)	 Enhanced Childhood Caring and Education	 (D)	 Efficient Childhood Care and Education
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	 10.	 {ZåZ{b{IV _| go H$m¡Z EH$ ^maV _| amîQ´>r` _yë`m§H$Z Ed§ àË`m`Z n[afX (NAAC) H$m àmW{_H$ \$moH$g h¡ ?
	 (A)	N>mÌm| H$mo {dÎmr` ghm`Vm àXmZ H$aZm	 (B)	 {díd{dÚmb` àdoe narjm Am`mo{OV H$aZm
	 (C)	Cƒ {ejm g§ñWmZm| H$m àË`m`Z	 (D)	 g§ñWmZm| _| Q>çyeZ \$sg H$m {d{Z`_Z
		  Which one of the following is the primary focus of the National Assessment and Accreditation Council 

(NAAC) in India ?

	 (A)	 Providing financial aid to student	 (B)	 Conducting university entrance examinations

	 (C)	 Accreditation of higher education institutions	 (D)	 Regulating tuition fees in institutions 

	 11.	 Am{W©H$ {dH$mg Ho$ {bE PURA ÑpîQ>H$moU {ZåZ{b{IV _| go {H$gHo$ {X_mJ H$s CnO h¡ ?
	 (A)	_Z_mohZ qgh			   (B)	 E. nr. Oo. AãXþb H$bm_
	 (C)	A_Ë`© goZ			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  PURA approach to economic development is the brain child of who among the following ?

	 (A)	 Manmohan Singh			   (B)	 A. P. J. Abdul Kalam

	 (C)	 Amartya Sen			   (D)	 None of the above

	 12.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a| VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE &

	 gyMr – I 		  gyMr – II 

		  (amÁ`)		  (amîQ´>r` CÚmZ)

	 a.	amOñWmZ	 I.	 _mZg amîQ´>r` CÚmZ

	 b.	N>ÎmrgJ‹T>	 II.	 {nZ d¡br amîQ´>r` CÚmZ

	 c.	Ag_	 III.	 B§ÐmdVr amîQ´>r` CÚmZ

	 d.	{h_mMb àXoe	 IV.	 Ho$dbmXod amîQ´>r` CÚmZ

	 	 Hy$Q> :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		L  ist – I	L ist – II 

		  (State)		  (National Park)

	 a.	 Rajasthan	 I.	 Manas National Park

	 b.	 Chhattisgarh	 II.	 Pin valley National Park

	 c.	 Assam	 III.	 Indravati National Park

	 d.	 Himachal Pradesh	 IV.	 Keoladeo National Park

		  Code :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I
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	 13.	 [a`mo + 20 _ybV: {ZåZ{b{IV _| go {H$ggo gå~§{YV h¡ ?
	 (A)	Am{W©H$ {dH$mg			   (B)	 gVV² {dH$mg
	 (C)	OZg§»`m {Z`§ÌU			   (D)	 dZ g§ajU
		  Rio + 20 is mainly related to which of the following ?
	 (A)	 Economic development			   (B)	 Sustainable development
	 (C)	 Population control			   (D)	 Forest protection

	 14.	 "E.EZ.nr.Ama.' H$m Š`m AW© h¡ ?
	 (A)	ñdMm{bV ZoQ>dH©$ ßboQ> nhMmZ		 (B)	 ñdMm{bV Z§~a ßboQ> nhMmZ
	 (C)	CÝZV Z§~a ßboQ> nhMmZ			   (D)	 ñdMm{bV amîQ´>r` ßboQ> nhMmZ
		  What does ‘ANPR’ stands for ?
	 (A)	 Automatic Network Plate Recognition	 (B)	 Automatic Number Plate Recognition
	 (C)	 Advanced Number Plate Recognition	 (D)	 Automated National Plate Recognition

	 15.	 "gVV² {dH$mg' H$m {dMma {H$g df© ApñVËd _| Am`m ?
	 (A)	1972			   (B)	 1980	
	 (C)	2007			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  In which year did the idea of ‘Sustainable development’ came into existence ?
	 (A)	 1972			   (B)	 1980
	 (C)	 2007			   (D)	 None of the above

	 16.	 {ZåZ{b{IV _| go H$m¡Z EH$ J«rZhmCg J¡g h¢ ?
	 (A)	_rWoZ			   (B)	 hr{b`_	
	 (C)	hmBS´>moOZ			   (D)	 H$m~©Z _moZmoAm°ŠgmBS>
		  Which one of the following is a greenhouse gas ?
	 (A)	 Methane			   (B)	 Helium
	 (C)	 Hydrogen			   (D)	 Carbon monoxide

	 17.	 {ZåZ{b{IV _| go {H$go 2024 _| Zmo~b em§{V nwañH$ma go gå_m{ZV {H$`m J`m ?
	 (A)	_Xa Q>oaogm			   (B)	Am§J gmZ gw H$s
	 (C)	_bbm `ygw\$OB©			   (D)	 {ZhmoZ {hS>mZŠ`mo
		  Who among the following was awarded the Nobel Peace Prize 2024 ?
	 (A)	 Mother Teresa			   (B)	 Aung San Suu Kyi
	 (C)	 Malala Yousafzai			   (D)	 Nihon Hidankyo

	 18.	 {ZåZ{b{IV _| go H$m¡Z EH$ H$m±J«og ZoVm Ho${~ZoQ> {_eZ `moOZm Ho$ nyU©V: nj _| Wm ?
	 (A)	_hmË_m Jm§Yr			   (B)	 Odmha bmb Zohê$
	 (C)	gaXma nQ>ob			   (D)	 _m¡bmZm A~wb H$bm_ AmOmX
		  Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
	 (A)	 Mahatma Gandhi			   (B)	 Jawahar Lal Nehru
	 (C)	 Sardar Patel			   (D)	 Maulana Abul Kalam Azad
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	 19.	 2005 _| bmJy hþE Š`moQ>mo àmoQ>moH$m°b H$m àmW{_H$ CÔoí` Š`m h¡ ?
	 (A)	àem§V _hmgmJa _| em§{V ñWm{nV H$aZm	 (B)	 d¡pídH$ H$m~©Z ~mOma ~ZmZm
	 (C)	_hmgmJar` àXÿfU H$mo {Z`§{ÌV H$aZm	 (D)	 J«rZhmCg J¡gm| Ho$ CËgO©Z H$mo H$_ H$aZm
		  What is the primary purpose of Kyoto protocol which came into effect in 2005 ?

	 (A)	 Establish peace in the pacific ocean	 (B)	 Create a global carbon market

	 (C)	 To regulate ocean pollution		  (D)	 To reduce the emission of greenhouse gasses

	 20.	 1857 Ho$ {dÐmoh Ho$ _w»` ZoVm
	 a.	amZr bú_r~mB©
	 b.	_§Jb nmÊS>o`
	 c.	~hmXþa emh µO\$a
	 d.	_ra {Zgma Abr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db d, a, b	 (D)	 Ho$db c, d, b

		  Main leaders during the Revolt of 1857 

	 a.	 Rani Laxmibai

	 b.	 Mangal Pandey

	 c.	 Bahadur Shah Zafar

	 d.	 Mir Nisar Ali

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 d, a, b only	 (D)	 c, d, b only

	 21.	 J§Jm ZXr H$s Ob àdmh àUmbr Ho$ g§X^© _| {ZåZ{b{IV _| go H$m¡Z-go H$WZ ghr h¢ ?
	 a.	 ^maV _| J§Jm ZXr àUmbr g~go ~‹S>r h¡ &
	 b.	 J§Jm H$m CX²J_ CÎmaH$mer _| h¡ &
	 c.	 gVbO VWm Pob_ J§Jm àUmbr H$s ghm`H$ Z{X`m± h¢ &
	 d.	 gmoZ ZXr J§Jm Ho$ Xm{hZo VQ> H$s à_wI ghm`H$ ZXr h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :	
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, d

		  With reference to river Ganga drainage system, which of the following statements are correct ?

	 a.	 The Ganga river system is largest in India.

	 b.	 Ganga rises in the Uttarkashi.

	 c.	 Satluj and Jhelum are tributaries of Ganga system.

	 d.	 Son river is its major right bank tributary of Ganga.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 a, c, d only	 (D)	 a, b, d only
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	 22.	 µI¡~a Xam© {ZåZ{b{IV _| go {H$g Xoe _§o pñWV h¡ ?

	 (A)	~m§½bmXoe	 (B)	 ^yQ>mZ	 (C)	 ^maV	 (D)	 nm{H$ñVmZ

		  Khyber Pass is situated in which of the following countries ?

	 (A)	 Bangladesh	 (B)	 Bhutan	 (C)	 India	 (D)	 Pakistan

	 23.	 "H$m°[aAmo{bg à^md' {ZåZ{b{IV _| go {H$gH$m n[aUm_ h¡ ?

	 (A)	_hmgmJar` YmamE±			   (B)	 n¥Ïdr H$m KyU©Z

	 (C)	dm`w_ÊS>br` Xm~ {^ÝZVmE±			   (D)	 MÝÐ_m H$m JwéËdmH$f©U qIMmd

		  ‘Coriolis effect’ is a result of which of the following ?

	 (A)	 Ocean currents			   (B)	 Earth’s rotation

	 (C)	 Atmospheric pressure differences	 (D)	 The gravitational pull of the moon

	 24.	 {H$ñQ>u H$mod|Q´>r, Omo A§Vam©îQ´>r` Amob§{nH$ g{_{V (IOC) H$s AÜ`j MwZr OmZo dmbr nhbr _{hbm ~Zr, {ZåZ{b{IV 

_| go {H$g Xoe go h¢ ?

	 (A)	{µOå~mãdo			   (B)	Am°ñQ´>o{b`m

	 (C)	~«mOrb			   (D)	 g§`wŠV amÁ` A_o[aH$m

	 	 Kirsty Coventry, who became the first woman to be elected as President of the International Olympic 

Committee (IOC) is from which of the following countries ?

	 (A)	 Zimbabwe			   (B)	 Australia

	 (C)	 Brazil			   (D)	 United States of America

	 25.	 {ZåZ{b{IV _| go H$m¡Z-gm/go amîQ´>r` OZg§»`m Zr{V, 2000 Ho$ CÔoí` h¡/h¢ ?

	 1.	 2045 VH$ OZg§»`m pñWa H$aZm &

	 2.	 _mV¥ _¥Ë`wXa H$mo 100,000 Or{dV OÝ_mo§ na 100 go ZrMo bmZm &

		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :

	 	 Hy$Q> :

	 (A)	Ho$db 1			   (B)	 Ho$db 2

	 (C)	1 Am¡a 2 XmoZm|			   (D)	 Z Vmo 1 Am¡a Z hr 2

		  Which of the following is/are the objectives of National Population Policy, 2000 ?

	 1.	 Population stabilisation by 2045.

	 2.	 Reduce maternal mortality rate to below 100 per 100,000 live birth.

		  Select the correct answer from the code given below :

		  Code :

	 (A)	 Only 1			   (B)	 Only 2

	 (C)	 1 and 2  both			   (D)	 Neither 1 nor 2
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	 26.	 {ZåZ{b{IV _| go H$m¡Z g~go à{gÕ ny±Or ~mµOma h¢ ?
	 1.	 eo`a ~mµOma
	 2.	 ~m±S> ~mµOma
	 3.	 ^maV _| {H$gr ^r {S>nm°{OQ>ar Ho$ gmW EH$ {S>nm°{OQ>ar ImVm
		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :
		  Hy$Q> :
	 (A)	Ho$db 1	 (B)	 Ho$db 1 Am¡a 3	 (C)	 Ho$db 2 Am¡a 3	 (D)	 Ho$db 1 Am¡a 2
		  Which among the following are the best known capital markets ?
	 1.	 The stock market
	 2.	 The bond markets
	 3.	 A depository account with any of the depositories in India
		  Select the correct answer from the code given below :
		  Code :
	 (A)	 Only 1	 (B)	 Only 1 and 3	 (C)	 Only 2 and 3	 (D)	 Only 1 and 2

	 27.	 ^maV _| {\$ŠH$s H$s ñWmnZm {H$gZo H$s ?
	 (A)	 Or. S>r. {~‹S>bm Ed§ Oo. Ama. S>r. Q>mQ>m	 (B)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Or. S>r. {~‹S>bm
	 (C)	_hmË_m Jm§Yr Ed§ XmXm^mB© Zm¡amoOr	 (D)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Oo. Ama. S>r. Q>mQ>m
		  Who established FICCI in India ?
	 (A)	 G. D. Birla and J. R. D. Tata 	 (B)	 Purshottamdas Thakurdas and G. D. Birla
	 (C)	 Mahatma Gandhi and Dadabhai Naoroji	 (D)	 Purshottamdas Thakurdas and J. R. D. Tata

	 28.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
	 gyMr – I				    gyMr – II

		  (A{YH$ma Ho$ àH$ma)			   	 (AZwgyMr)
	 a.	 {d{Y Ho$ g_j g_mZVm H$m A{YH$ma	 I.	 AZwgyMr – 14
	 b.	 Y_© Ho$ AmYma na ôX^md go gwajm	 II.	 AZwgyMr – 15	
	 c.	 Adga H$s g_mZVm		  	 III.	 AZwgyMr – 16
	 d.	 Añn¥í`Vm H$m A§V 		  	 IV.	 AZwgyMr – 17
		  Hy$Q> :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
		  Match List – I with List – II and select the correct answer from the code given below the lists.
	L ist – I		L  ist – II
		 (Types of Rights)				    (Article)
	 a.	 Right of equality before the law	 I.	 Article – 14
	 b.	 Protection from discrimination on religious ground	 II.	 Article – 15
	 c.	 Equality of opportunity			   III.	 Article – 16
	 d.	 Abolition of untouchability			   IV.	 Article – 17
		  Code :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
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	 29.	 bmoH$g^m H$s A{YH$V_ gXñ` g§»`m {ZYm©[aV h¡

	 	 The maximum number of members in the Lok Sabha is fixed at

	 (A)	 530	 (B)	 545	 (C)	 550	 (D)	 552

	 30.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

	  	  gyMr – I		        gyMr – II

		  (AZwgyMr)	 	 (g§d¡Ym{ZH$ àmdYmZ)

	 a.	 AZwÀN>oX 50	 I.	 amîQ́>n{V na _hm{^`moJ

	 b.	 AZwÀN>oX 143	 II.		 Ý`m`nm{bH$m Am¡a H$m ©̀nm{bH$m Ho$ ~rM n¥WŠH$aU	

	 c.	 AZwÀN>oX 61	 III.	 bmoH$ godm Am`moJ H$m H$m ©̀

	 d.	 AZwÀN>oX 320	 IV.	 gdm©oÀM Ý`m`mb` H$m gbmhH$ma joÌm{YH$ma

		  Hy$Q> :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		   List – I	  	             List – II

		  (Article)		  (Constitutional Provision)

	 a.	 Article 50	 I.	 Impeachment of the President

	 b.	 Article 143	 II.	 Separation between Judiciary and Executive

	 c.	 Article 61	 III.	 Functioning of Public Service Commission

	 d.	 Article 320	 IV.	 Advisory Jurisdiction of the Supreme Court

		  Code :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II



M	 -10-	 38

{ejmemñÌ
education

	 31.	 H$m¡Z-gm Xe©Z ‘ Cn`mo{JVm Ho$ {gÕmÝV’ go gå~pÝYV h¡ ?

	 (A)	 àH¥${VdmX			   (B)	 `WmW©dmX	

	 (C)	 à`moOZdmX			   (D)	AmXe©dmX

		  Which philosophy is related to ‘Principle of Utility’ ?

	 (A)	 Naturalism			   (B)	 Realism	

	 (C)	 Pragmatism			   (D)	 Idealism

	 32.	 ‘ {anpãbH$ ’ Zm_H$ nwñVH$ Ho$ boIH$ h¢ 

	 (A)	 ßboQ>mo			   (B)	 ê$gmo	

	 (C)	 gwH$amV			   (D)	 Om°Z S>rdr

		  The author of the book ‘Republic’ is 

	 (A)	 Plato			   (B)	 Rousseau	

	 (C)	 Socrates			   (D)	 John Dewey

	 33.	 ‘_yë` emídV Ed§ An[adV©Zr` h¢ ’& `h _mÝ`Vm h¢

	 (A)	AmXe©dmX H$s			   (B)	 `WmW©dmX H$s	

	 (C)	 àH¥${VdmX H$s			   (D)	 à`moOZdmX H$s

		  ‘Values are absolute and unchanging’ this is the belief of 

	 (A)	 Idealism			   (B)	 Realism	

	 (C)	 Naturalism			   (D)	 Pragmatism

	 34.	 ‘gå`H²$ AmñWm’, ‘gå`H²$ kmZ’ VWm ‘gå`H²$ AmMaU’ gå~pÝYV h¢ 

	 (A)	 O¡Z Xe©Z go			   (B)	 ~m¡Õ Xe©Z go

	 (C)	 Bñbm{_H$ Xe©Z go			   (D)	 doXmÝV Xe©Z go

		  ‘Samyak Astha’, ‘Samyak Jnana’ and ‘Samyak Aacharan’ are related to 

	 (A)	 Jainism philosophy			   (B)	 Buddhism philosophy

	 (C)	 Islamic philosophy			   (D)	 Vedanta philosophy
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	 35.	 `WmW©dmX Ho$ AZwgma ApÝV_ gË` Š`m h¢ ?

	 (A)	 àH¥${V			   (B)	 nXmW©	

	 (C)	AmË_m			   (D)	 na_mË_m

		  What is the ultimate reality according to realism ?

	 (A)	 Nature			   (B)	 Matter	

	 (C)	 Soul			   (D)	 God

	 36.	 lr Aaq~Xmo Ho$ AZwgma, EH$ ~mbH$ H$mo {H$g n«H$ma AZwem{gV {H$`m OmZm Mm{hE ?

	 (A)	 gm_m{OH$ ñdrH¥${V Ho$ Ûmam			  (B)	 Z¡{VH$ {ejm Ho$ Ûmam

	 (C)	 XÊS> Ho$ Ûmam			   (D)	 ~b `m epŠV Ho$ Ûmam 

		  According to Sri Aurobindo, how should a child be disciplined ?

	 (A)	 By social approval			   (B)	 By moral education

	 (C)	 By punishment			   (D)	 By force or power

	 37.	 ñdm_r {ddoH$mZÝX Ho$ AZwgma {ejm H$m ApÝV_ CX²Xoí` Š`m hmoZm Mm{hE ?

	 (A)	 emar[aH$ {dH$mg			   (B)	 Z¡{VH$ {dH$mg

	 (C)	AmÜ`mpË_H$ {dH$mg			   (D)	 ì`dgm{`H$ {dH$mg

		  According to Swami Vivekanand, what should be the ultimate aim of education ?

	 (A)	 Physical development			   (B)	 Moral development

	 (C)	 Spiritual development			   (D)	 Vocational development

	 38.	 g_mO H$m gm_m{OH$-Am{W©H$ AmYma na nXmZwH«$_mZwgma {d{^ÝZ g_yhm| _| {d^mOZ H$hbmVm h¢ 

	 (A)	 gm_m{OH$ ñVarH$aU			   (B)	 gm_m{OH$ J{VerbVm

	 (C)	 gm_m{OH$ ê$nmÝVaU			   (D)	 gm_m{OH$ {dH$mg

		  Division of society into socioeconomic groups in a different hierarchical order is known as

	 (A)	 Social stratification	 	 	 (B)	 Social mobility

	 (C)	 Social transformation			   (D)	 Social development
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	 39.	 ^maVr` g§{dYmZ Ho$ H$m¡Z-go AZwÀN>oX Ho$ AÝVJ©V ^maV H$s AZwgy{MV Om{V, AZwgy{MV OZOm{V VWm AÝ` {nN>‹S>m 

dJ© Ho$ e¡j{UH$ CËWmZ Ho$ {b`o ^maV Ho$ amÁ`m| H$mo A{YH$ma {X`o J`o h¡ ?

	 (A)	 42 d|			   (B)	 62 d|	

	 (C)	 46 d|			   (D)	 75 d|

		  Under which article of the constitution, the Indian states are given right  to promote educational 

interests of the sCs, sts and OBCs of India ?

	 (A)	 42nd			   (B)	 62nd	

	 (C)	 46th			   (D)	 75th

	 40.	 ‘ {ejm gm_m{OH$ n[adV©Z H$m AZwgaU H$aVr h¡’ `h H$WZ {H$gHo$ Ûmam {X`m J`m ?

	 (A)	 Xw{I©_			   (B)	 Om°ZgZ

	 (C)	AmQ>modo			   (D)	 S>rdr

		  ‘Education follows social change’ by whom was this statement given ?

	 (A)	 Durkheim			   (B)	 Johnson

	 (C)	 Ottoway			   (D)	 Dewey

	 41.	 {ZåZ{b{IV _| go {H$go _Zwî` EH$ gm_m{OH$ n«mUr Ho$ ê$n _| {damgV _| àmá H$aVm h¡ Am¡a bå~o g_` VH$ {dH${gV 

H$aVm h¡ ?

	 (A)	 VH$ZrH$s			   (B)	 d¡km{ZH$ ñd^md

	 (C)	 _yë` ì`dñWm			   (D)	 g§ñH¥${V

		  Which of the following is inherited and developed by man as a social being over the ages ?

	 (A)	 Technology	 	 	 (B)	 Scientific temper

	 (C)	 Value system			   (D)	 Culture

	 42.	 {ZåZ{b{IV _| go H$m¡Z-gm ^maV _| gm_m{OH$ n[adV©Z hoVw ~mYH$VËd Zht h¡ ?

	 (A)	 ZdrZVm H$m ^`			   (B)	 {ejm

	 (C)	 gm§ñH¥${VH$ O‹S>Vm			   (D)	 n¥WH$Vm H$s ^mdZm

		  Which of the following is not a constraint of social change in India ?

	 (A)	 Fear of newness			   (B)	 Education

	 (C)	 Cultural inertia			   (D)	 Feeling of isolation
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	 43.	 [ZåZ _| go H$m¡Z-gm H$WZ g§ñH¥${V na {ejm Ho$ à^md Ho$ ~mao _| ghr Zht h¡ ?

	 (A)	 {ejm g§ñH¥${V H$m g§ajU H$aVr h¡

	 (B)	 {ejm g§ñH¥${V H$m hñVm§VaU H$aVr h¡

	 (C)	 {ejm {d{^Þ g§ñH¥${V`m| _| ^oX n¡Xm H$aVr h¡

	 (D)	 {ejm g§ñH¥${V Ho$ {dH$mg _| ghm`Vm H$aVr h¡ 	

		  Which of the following statements is not correct about the impact of education on culture ?
	 (A)	 Education preserves culture
	 (B)	 Education transmits culture
	 (C)	 Education creates differences among different cultures
	 (D)	 Education helps in development of culture

	 44.	 e¡{jH$ g_mOemñÌ Ho$ OZH$ h¢

	 (A)	AJñV H$måQ>o			   (B)	 OmO© noZ

	 (C)	 _¡Šg do~a			   (D)	 B_mBb Xþ{I©_

		  The father of educational sociology is 

	 (A)	 Auguste Comte			   (B)	 George Payne

	 (C)	 Max Weber			   (D)	 Emile Durkheim

	 45.	 EH$$ N>mÌ narjm _| AZwÎmrU© hmoZo na H$hVm h¡ “àíZnÌ A{YH$ H${R>Z Wm” & Bg_| N>mÌ Ûmam H$m¡Z-gr ajmË_H$ 

`wpŠV H$m à`moJ {H$`m Om ahm h¡ ?

	 (A)	 à{VñWmnZ			   (B)	 nbm`Z

	 (C)	 j{Vny{V©			   (D)	 `wŠVrH$aU

		  A child failing in the examination says “The question paper was very difficult”. Which defence 

mechanism is being used by the child ?

	 (A)	 Substitution			   (B)	 Withdrawal

	 (C)	 Compensation			   (D)	 Rationalization

	 46.	 ‘ {S>ñbopŠg`m’ gå~pÝYV h¡ 

	 (A)	 ldU go			   (B)	 nR>Z go	

	 (C)	 ~mobZo go			   (D)	 JUZm H$aZo go

		  ‘Dyslexia’ is related to 

	 (A)	 Listening			   (B)	 Reading	

	 (C)	 Speaking			   (D)	 Calculating
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	 47.	 BZ `mo½`VmAm| _| go H$m¡Z-gm Am¡nMm[aH$ g§{H«$`mË_H$ H$mb _| {dH${gV Zht hmoVr h¡ ?

	 (A)	 n[aH$ënZmË_H$-{ZJ_ZmË_H$ VH©$ 	

	 (B)	 {d_e©H$ A_yVuH$aU
	 (C)	 _mÌm H$m g§ajU			 
	 (D)	 Vm{H©$H$ {MÝVZ

		  Which of these abilities does not develop during formal operational period ?

	 (A)	 Hypothetico-deductive thinking	

	 (B)	 Reflective abstraction

	 (C)	 Conservation of quantity	

	 (D)	 Logical thinking

	 48.	 {ZåZ{b{IV _| go H$m¡Z-gm {gÕmÝV A{YJ_ AÝVaU go gå~pÝYV h¡ ?

	 (A)	Amdí`H$Vm {gÕmÝV			   (B)	 {Û-H$maH$ {gÕmÝV

	 (C)	 H$m±Q>rÝOoÝgr {gÕmÝV			   (D)	 g_mZ-Ad`d {gÕmÝV

		  Which one of the following theory is associated with transfer of learning ?

	 (A)	 Need theory			   (B)	 Bi-factor theory

	 (C)	 Contingency theory			   (D)	 Identical-element theory

	 49.	 _mZ{gH$ ê$n go _ÝX N>mÌm| Ho$ {ejU Ho$ {b`o {ZåZ{b{IV _| go H$m¡Z-gm {ejU CnJ_ Cn`wŠV hmoJm ?

	 (A)	 g§dY©Z H$m`©H«$_			   (B)	 d¡`ŠVrH¥$V AZwXoeZ

	 (C)	 doJ d¥{Õ/ËdaU			   (D)	 CÞV H$moqMJ

		  Which of the following approach of teaching is appropriate for a mentally retarded child ?

	 (A)	 Enrichment programme			  (B)	 Individualized instruction

	 (C)	 Acceleration			   (D)	 Advanced coaching

	 50.	 ì`pŠVËd Ho$ _mnZ Ho$ {b`o à`wŠV ‘ amoem©H$ ñ`mhr Yã~m narjU’ {H$g àH$ma H$m CnH$aU h¡ ?

	 (A)	AZwgyMr			   (B)	 n[apñW{V narjU

	 (C)	 {ZYm©aU _mnZr			   (D)	 àjonr narjU

		  Which type of tool is ‘Rorschach Ink Blot Test’, used for measuring personality ?

	 (A)	 Inventory			   (B)	 Situational test

	 (C)	 Rating scale			   (D)	 Projective test
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	 51.	 EH$ {ejH$ AnZo {dÚm{W©`m| go AJbo AÜ``Z hoVw ‘ {df`m| H$m M`Z H¡$go H$a| ?’ Ho$ {df` _| n[aMMm© H$aVm h¡ & 

`h {H$g àH$ma H$m {ZX}eZ h¡ ?

	 (A)	 e¡{jH$ {ZX}eZ			   (B)	 ì`pŠVJV {ZX}eZ

	 (C)	 ì`dgm{`H$ {ZX}eZ			   (D)	 gm_mÝ` {ZX}eZ

		  A teacher discusses with students about ‘How to select appropriate subjects for further studies’ ? 
Which type of guidance is this ?

	 (A)	 Educational guidance			   (B)	 Personal guidance

	 (C)	 Vocational guidance			   (D)	 General guidance

	 52.	 A§H$m| Ho$ EH$ {dVaU H$mo {df_ H$hm OmVm h¡, O~ A§H$

	 (A)	 ñHo$b na g_mZ ê$n go {dV[aV hmo

	 (B)	 EH$ Va\$ H$s VwbZm _| Xÿgar Va\$ JwpÀN>V hmo

	 (C)	 _Ü` _| Ho$pÝÐV hmo

	 (D)	 _Ü` Ho$ XmoZm| Va\$ g_{_V ê$n go {dV[aV hmo

		  A distribution of scores is said to be skewed when scores are

	 (A)	 evenly distributed over the scale 

	 (B)	 bunched on one side as compared to other side

	 (C)	 concentrated on the central part

	 (D)	 symmetrically distributed on both the sides

	 53.	 “~mbH$m| VWm ~m{bH$mAm| H$s g§doJmË_H$ ~w{Õ _| gmW©H$ AÝVa Zht h¡ &” Zm_H$ eyÝ` n[aH$ënZm Ho$ narjU hoVw 

BZ_| go {H$gH$m à`moJ {H$`m Om gH$Vm h¡ ?

	 (A)	 H$mB© dJ© narjU			 

	 (B)	 JwUZ\$b-AmKyU© ghgå~§Y

	 (C)	 EH$ _mJu` àgaU {díbofU	

	 (D)	 _mZ-pìhQ>Zr `y-narjU

	 	 Which of these can be used to test the null hypothesis “There is no significant difference between boys 
and girls on emotional intelligence” ?

	 (A)	 Chi-square test			 

	 (B)	 Product-moment correlation

	 (C)	 One way analysis of variance	

	 (D)	 Mann-Whitney U-test
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	 54.	 gm_mÝ` gå^mì`Vm dH«$ _| –1σ  go + 1σ  Ho$ ~rM H$m joÌ hmoVm h¡ 

		  In normal probability curve the area that lies between –1σ to + 1σ is 

	 (A)	 68.16%			   (B)	 68.26%	

	 (C)	 68.36%			   (D)	 68.46%

	 55.	 EH$ {df_ g_pîQ> go Ý`mXe© M`Z hoVw Cn`wŠV {d{Y hmoJr

	 (A)	 gw{dYmOZH$ Ý`mXe©			   (B)	 JwÀN> Ý`mXe©

	 (C)	 ñVarH¥$V Ý`mXe©			   (D)	 H$moQ>m Ý`mXe©

		  For a heterogenous population, the suitable method for sampling will be

	 (A)	 Convenient sampling			   (B)	 Cluster sampling

	 (C)	 Stratified sampling	 	 	 (D)	 Quota sampling

	 56.	 emoY H$s {H$g {d{Y _| ‘H$maU-à^md gå~ÝY’ ñWm{nV {H$`m OmVm h¡ ?

	 (A)	 gd}jU {d{Y			   (B)	 Eo{Vhm{gH$ {d{Y

	 (C)	 dU©ZmË_H$ {d{Y			   (D)	 à`moJmË_H$ {d{Y

		  In which method of research the ‘cause-effect relationship’ is established ?

	 (A)	 Survey method			   (B)	 Historical method

	 (C)	 Descriptive method			   (D)	 Experimental method

	 57.	 {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ‘ {H«$`mË_H$ AZwgÝYmZ’ Ho$ gå~ÝY _| ghr Zht h¡ ?

	 (A)	 BgH$m CÔoí` {dÚmb` H$s H$m`©àUmbr _| gwYma H$aZm h¡ 

	 (B)	 BgHo$ n[aUm_m| H$m gm_mÝ`rH$aU {H$`m Om gH$Vm h¡

	 (C)	 {dÚmb`r AÜ`mnH$ ñd`§ hr emoYH$Îmm© hmoVo h¢

	 (D)	 Bg_| dmñV{dH$ H$jm n[apñW{V Ho$ {bE dmñV{dH$ g_mYmZ ImoOm OmVm h¡ 

		  Which of the following is not correct about ‘Action Research’ ?

	 (A)	 It aims at improving the function of school

	 (B)	 Its results can be generalized

	 (C)	 The school teachers are the researcher themselves

	 (D)	 It finds out the real solution for real classroom situation
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	 58.	 JhZ Ed§ Iwbo gmjmËH$ma H$m _w»` ê$n go à`moJ {H$`m OmVm h¡

	 (A)	 JwUmË_H$ AZwgÝYmZ _|			   (B)	 gd}jU AZwgÝYmZ _|

	 (C)	 dU©ZmË_H$ AZwgÝYmZ _|			   (D)	 ghgå~ÝYmË_H$ AZwgÝYmZ _| 

		  In depth and open-ended interviews are mainly used in 

	 (A)	 Qualitative research	 	 	 (B)	 Survey research

	 (C)	 Descriptive research			   (D)	 Correlational research

	 59.	 nyU© JwUdÎmm à~ÝYZ Ho$ ì`mnH$ Xe©Z Am¡a _m¡{bH$ `wpŠV Ho$ {dH$mg H$m lo` {H$go OmVm h¡ ?

	 (A)	 H«$mg~mB©			   (B)	 BerH$mdm 

	 (C)	 S>oq_J Ed§ Á`yamZ			   (D)	 {hb Ed§ Q>oba

		  To whom goes the credit of developing a comprehensive philosophy and original strategy of total 

quality management ?

	 (A)	 Crosby			   (B)	 Ishikawa

	 (C)	 Deming and Juran			   (D)	 Hill and Taylor

	 60.	 POSDCORB H$m àË`` {H$gZo {X`m ?

	 (A)	 hoZar			   (B)	 Q>oba	

	 (C)	 bwWa Jw{bH$			   (D)	 S>rdr

		  Who has given the concept of POSDCORB ?

	 (A)	 Henry			   (B)	 Taylor	

	 (C)	 Luther Gulick			   (D)	 Dewey

	 61.	 E\$. S>ãby. Q>oba Ho$ Ûmam H$m¡Z-gm {gÕmÝV {X`m J`m ?

	 (A)	 àemgZ: EH$ à~ÝYZ Ho$ ê$n _|	 (B)	 d¡km{ZH$ à~ÝYZ

	 (C)	 Zm¡H$aemhr EH$ à~ÝYZ Ho$ ê$n _|	 (D)	 g_` à~ÝYZ

		  Which theory was given by F. W. Taylor ?

	 (A)	 Administration as management	 (B)	 Scientific management

	 (C)	 Bureaucracy as management	 (D)	 Time management
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	 62.	 {ZåZ _| go H$m¡Z-gm nX PERT H$s à{H«$`m _| Zht h¡ ?

	 (A)	 CX²Xoí`m| H$mo n[a^m{fV H$aZm 	 (B)	 H$m`© {d^§J g§aMZm V¡`ma H$aZm

	 (C)	 g_` AZw_mZ H$m {ZYm©aU H$aZm	 (D)	 bmJV AZw_mZ H$m {ZYm©aU H$aZm

		  Which of the following is not a step in the process of PERT ?

	 (A)	 Defining the objective	 	 	 (B)	 Preparing a work-breakdown structure

	 (C)	 Making time estimates			   (D)	 Making cost-estimate

	 63.	 {ZåZ{b{IV _| go H$m¡Z {ZU©`Z-{gÕmÝV go gå~pÝYV h¡ ?

	 (A)	 gr`g©			   (B)	 S>r. {_ba	

	 (C)	 J«r\$sW²g			   (D)	 EM. E. gr_moZ

		  Which of the following is related to theory of decision making ?

	 (A)	 Sears			   (B)	 D. Miller	

	 (C)	 Griffiths	 	 	 (D)	 H. A. Simon

	 64.	 à~ÝYZ H$m AmYw{ZH$ CnJ_ {deof ~b XoVm h¡ 

	 (A)	 g§JR>ZmË_H$ AZwnmbZ na			   (B)	 g§JR>ZmË_H$ gamoH$mam| na

	 (C)	 g§JR>ZmË_H$ d¥{Õ na			   (D)	 à~ÝYH$m| Ho$ n`©dojU na

		  The modern approach to management focuses on

	 (A)	 Organizational compliance	 (B)	 Organizational concerns

	 (C)	 Organizational growth			   (D)	 Supervision of managers

	 65.	 “ZoV¥Ëd EH$ n[apñW{V _| à`wŠV {H$`m J`m VWm {d{eîQ> bú` AWdm bú`m| H$s àmpßV H$s Amoa {ZXo{eV AÝVa 

d¡`pŠVH$ à^md h¡ &” `h {H$gH$m H$WZ h¡ ?

	 (A)	 Om°O© Ama. Q>¡ar			   (B)	 am~Q>© Q>¡ZZ~m_

	 (C)	 Hy$ÝO Ed§ S>moZ¡b			   (D)	 S>Jbg _¡ŠJ«¡Ja

	 	 “Leadership is an interpersonal influence exercised in a situation and directed toward the attainment of 

a specialized goal or goals”. who’s statement is this ?

	 (A)	 George R. Terry			   (B)	 Robert Tanenbaum 

	 (C)	 Koonz and Donell			   (D)	 Douglas Mcgregor
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	 66.	 {ZåZ _| go H$m¡Z ãby_ Ho$ ‘^mdmË_H$ S>mo_oZ’ Ho$ ì`dhmaJV CX²Xoí`m| Ho$ dJuH$aU go gå~pÝYV Zht h¡ ?

	 (A)	A{^J«hU H$aZm			   (B)	AZw{H«$`m H$aZm

	 (C)	 g_Ýd`Z			   (D)	 _hÎd XoZm

		  Which of the following is not related to ‘Affective Domain’ in Bloom’s taxonomy of behavioural 

objectives ?

	 (A)	 Receiving			   (B)	 Responding

	 (C)	 Coordination			   (D)	 Valuing 

	 67.	 _mB{H$`b pñH«${dZ {H$ggo gå~pÝYV h¡ ?

	 (A)	 gVV² AmÝV[aH$ _yë`m§H$Z go			

	 (B)	 {Zanoj Ed§ gmnoj _yë`m§H$Z go

	 (C)	 g§aMZmË_H$ Ed§ `moJmË_H$ _yë`m§H$Z go	

	 (D)	 {ZH$g g§X{^©V _yë`m§H$Z go 

		  Michael Scriven was associated with

	 (A)	 Continuous internal evaluation	

	 (B)	 Absolute and relative evaluation

	 (C)	 Formative and summative evaluation	

	 (D)	 Criterion-referenced evaluation

	 68.	 {dídgZr`Vm H$s narjU-nwZ:narjU {d{Y H$m Cn`moJ hmoVm h¡

	 (A)	 pñWaVm _mnZ Ho$ {b`o			 

	 (B)	 g_Vwë`Vm _mnZ Ho$ {b`o

	 (C)	 pñWaVm Ed§ Vwë`Vm _mnZ Ho$ {b`o	

	 (D)	AmÝV[aH$ g§J{V _mnZ Ho$ {b`o

		  Test-retest method of reliability is used for

	 (A)	 Measures of stability			 

	 (B)	 Measures of equivalence

	 (C)	 Measures of stability and equivalence	

	 (D)	 Measures of internal consistency
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	 69.	 {H$gr EH$ ~w{Õ narjU VWm EH$ CnbpãY narjU Ho$ _Ü` ghgå~§Y H$m _mZ .74 h¡ & Bggo {ZåZ H$m nVm MbVm h¡ 

	 (A)	 CnbpãY narjU H$s g_dVu d¡YVm H$m	

	 (B)	 ~w{Õ narjU H$s ^{dî`H$WZmË_H$ d¡YVm H$m

	 (C)	 narjUm| H$s {dídgZr`Vm H$m	

	 (D)	 narjUm| H$s aMZmË_H$ (H$ÝñQ´>ŠQ>>) d¡YVm H$m

		  The value of correlation between scores on a test of intelligence and an achievement test is .74. It 

indicates

	 (A)	 Concurrent validity of achievement test	

	 (B)	 Predictive validity of intelligence test

	 (C)	 Reliability of tests			 

	 (D)	 Construct validity of tests

	 70.	 {ZåZ _| go H$m¡Z-gm pñW{V gyMH$ _mnH$ h¡ ?

	 (A)	 ~hþbm§H$			   (B)	 _mpÜ`H$m d Hw$Hw$XVm

	 (C)	 _Ü`_mZ			   (D)	 à{VeVm§H$

		  Which of the following is a measure of position ?

	 (A)	 Mode			   (B)	 Median and Kurtosis

	 (C)	 Mean			   (D)	 Percentile

	 71.	 H${R>ZmB© ñVa Ed§ {d^oXZ j_Vm H$s JUZm H$s OmVr h¡

	 (A)	 narjU H$s {dídgZr`Vm kmV H$aZo Ho$ {b`o	

	 (B)	 narjU H$s d¡YVm kmV H$aZo Ho$ {b`o

	 (C)	 {H$gr A{^d¥{Îm _mnZm| Ho$ nX-{díbofU hoVw 	

	 (D)	 {H$gr CnbpãY narjU Ho$ nX-{díbofU hoVw

	 	 Difficulty value and discrimination power are calculated for

	 (A)	 Finding out the reliability of a test	

	 (B)	 Finding out the validity of a test

	 (C)	 Item analysis of an attitude scale 	

	 (D)	 Item analysis of an achievement test
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	 72.	 Z-àmßVm§H$ H$mo T-àmßVm§H$ _| n[ad{V©V H$aZo Ho$ {bE gyÌ h¡

		  The formula for converting Z-score to T-score is 

	 (A)	 T = 10 + 50Z	 (B)	 T = 50 + 10Z 	 (C)	 T = 100 + 50Z	 (D)	 T = 100 – 50Z

	 73.	 A{YJ_ H$s à{H«$`m H$mo _m°ZrQ>a H$aZo Ho$ {b`o {H$g àH$ma H$m _yë`m§H$Z {H$`m OmVm h¡ ?

	 (A)	 ñWmnZ _yë`m§H$Z			   (B)	 g§aMZmË_H$ _yë`m§H$Z 

	 (C)	 {ZXmZmË_H$ _yë`m§H$Z			   (D)	 `mo½mmË_H$ _yë`m§H$Z

		  Which type of evaluation is used to monitor the learning process ?

	 (A)	 Placement evaluation			   (B)	 Formative evaluation 

	 (C)	 Diagnostic evaluation			   (D)	 Summative evaluation

	 74.	 amîQ´>r` {ejm Zr{V 2020 Ho$ AÝVJ©V ‘Am^mgr à`moJembm’ Ho$ {Z_m©U hoVw gå^m{dV ßboQ>\$m_© h¢ 

	 i.	 Xrjm

	 ii.	 ñd`§

	 iii.	 naI

	 iv.	 ñd`§à^m

		  ghr CÎma H$m M`Z H$a| &

	 (A)	  i, ii, Am¡a iv	 (B)	 i, ii, Am¡a iii	 (C)	 ii, iii, Am¡a iv	 (D)	 i, iii, Am¡a iv

		  For creating ‘Virtual Labs’ as per NEP 2020 platforms to be used are the following 

	 i.	 Diksha

	 ii.	 Swayam

	 iii.	 Parakh

	 iv.	 Swayam prabha

		  Choose the correct answer.

	 (A)	 i, ii, and iv	 (B)	 i, ii, and iii	 (C)	 ii, iii, and iv	 (D)	 i, iii, and iv

	 75.	 ~w{Z`mXr {ejU à{V_mZ Ho$ à{VnmXH$ h¢

	 (A)	 am~Q>© ½boga			   (B)	 ~r. E\$. pñH$Za
	 (C)	 Wm°_g E\$. {Jb~Q>©			   (D)	 Om°`g VWm drb

		  The propounder of basic Teaching Model is 

	 (A)	 Robert Glassor			   (B)	 B. F. Skinner

	 (C)	 Thomas F. Gilbert 			   (D)	 Joyce and Weil
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	 76.	 XÿañW {ejm àXmZ H$aZo Ho$ {b`o ^maV Ûmam nhbm EoOwHo$eZb g¡Q>obmBQ> Omo ‘ESw>goQ>’ Zm_ go OmZm OmVm h¡, ñWm{nV 
{H$`m J`m 

	 (A)	 2002 _|			   (B)	 2004 _|	

	 (C)	 2005 _|			   (D)	 2006 _|

		  First educational satellite called ‘EDUSAT’ to impart distance education was launched by India in 

	 (A)	 2002			   (B)	 2004	

	 (C)	 2005			   (D)	 2006

	 77.	 MOOC H$m nyU© ê$n h¡

	 (A)	 _mg AmonZ AmZbmBZ H$mog©			  (B)	 _¡{gd AmonZ AmZbmBZ H$mog©

	 (C)	 _m°S>b Am\$ AmZbmBZ H$mog©		 (D)	 _¡{gd AmZbmBZ AmonZ H$mog©

		  What is the full form of MOOC ?

	 (A)	 Mass Open Online Course	 (B)	 Massive Open Online Course

	 (C)	 Model of Online Course			   (D)	 Massive Online Open Course

	 78.	 ‘emIr`-A{^H«${_V AZwXoeZ’ {X`m J`m 

	 (A)	 ~r. E\$. pñH$Za Ûmam			   (B)	 Wm°_g E\$. {Jb~Q>© Ûmam

	 (C)	 Zm_©Z E. H«$mCS>a Ûmam			   (D)	 Oo.nr. {Jb\$moS>© Ûmam

		  ‘Branching Programmed Instruction’ was given by 

	 (A)	 B. F.  Skinner			   (B)	 Thomas F. Gilbert 

	 (C)	 Norman A. Crowder			   (D)	 J. P.  Guilford

	 79.	 ‘‘A{YJ_ VWm A{YJ_ H$s n[apñW{V`m| Ho$ d¡km{ZH$ kmZ Ho$ {ejU VWm à{ejU H$s à^mderbVm ~‹T>mZo hoVw 
Cn`moJ H$mo {ejm VH$ZrH$s H$hVo h¢&’’ `h H$WZ {H$gH$m h¡ ?

	 (A)	 ~r. gr. _¡{Wg			   (B)	 Or. Amo. E_. brW
	 (C)	 S>ãë`y . Ho$. [aM_ÊS>			   (D)	Ama. E. H$m°Šg

	 	 “Educational Technology is the application of scientific knowledge about learning and the conditions of 

learning to improve the effectiveness of teaching and training”.  Whose statement is this ?

	 (A)	 B. C. Mathis			   (B)	 G. O. M. Leith

	 (C)	 W. K.  Richmond			   (D)	 R. A.  Cox
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	 80.	 gyMr – I  VWm  gyMr – II H$mo gw_o{bV H$s{OE &

	 	   gyMr – I	 	 gyMr – II

	 a.	 gm_mÝ` {dÚmb` àUmbr	 I.	 _wXm{b`a Am`moJ

	 b.	 ZdmoX` {dÚmb`	 II.	 EZ.B©.nr. – 2020

	 c.	 Mma dfu` ñZmVH$ H$mog©	 III.	 H$moR>mar Am`moJ

	 d.	 ~hþ-CÔoí`r` {dÚmb`	 IV.	 EZ.nr. B©. – 1986

		  AJ«mo{„{IV go AnZm CÎma MwZ| :

	 (A)	 a – 	III	 b – IV	 c – II	 d – I

	 (B)	 a – III	 b – IV	 c – I	 d – II

	 (C)	 a – I		 b –  II	 c – III	 d – IV

	 (D)	 a – II		 b –  I	 c – IV	 d – III

		  Match List – I with List – II.

		      List – I					L     ist – II

	 a.	 Common School System	 I.	 Mudaliar Commission

	 b.	 Navodaya Vidyalaya	 II.	 NEP – 2020

	 c.	 4 Year undergraduate course	 III.	 Kothari Commission

	 d.	 Multipurpose Schools	 IV.	 NPE – 1986

		  Choose the answer from the following :

	 (A)	 a – 	III	 b – IV	 c – II	 d – I

	 (B)	 a – III	 b – IV	 c – I	 d – II

	 (C)	 a – I		 b – II	 c – III	 d – IV

	 (D)	 a – II		 b – I	 c – IV	 d – III
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	 81.	 EZ.B©.nr. 2020 \$mCÝS>oeZ ñVa na {ejU hoVw {d{^Þ {d{Y`m| H$mo AnZmZo Ho$ {bE {g\$m[ae H$aVr h¡

	 i.	Iob {d{Y

	 ii.	 ì`m»`mZ {d{Y

	 iii.	 J{V{d{Y {d{Y

	 iv.	AÝVa{H«$`mË_H$ {d{Y

		  {ZåZ{b{IV _| go ghr {dH$ën MwZ| &

	 (A)	 i, ii Am¡a iii			   (B)	 i, ii Am¡a iv

	 (C)	 i, iii Am¡a iv			   (D)	 ii, iii Am¡a iv

		  NEP-2020 recommends various teaching methods at foundational stage

	 i.	 Play method

	 ii.	 Lecture method

	 iii.	 Activity method

	 iv.	 Interactive method

		  Select correct answer from the following.

	 (A)	 i, ii and iii			   (B)	 i, ii and iv

	 (C)	 i, iii and iv			   (D)	 ii, iii and iv

	 82.	 {ZåZ _| go {H$g g{_{V Ho$ à{VdoXZ H$m erf©H$ ‘Qw>dS>©²g EZ EZbmBQ>|S> EÊS> h`y_oZ gmogmBQ>r’ Wm ?

	 (A)	 hQ>m©J g{_{V			 

	 (B)	Ioa g{_{V

	 (C)	 am__y{V© g_rjm g{_{V			 

	 (D)	 OZmX©Z aoÈ>r g{_{V

		  Report of which of these committees was entitled ‘Towards an enlightened and Humane Society’ ? 

	 (A)	 Hartog Committee			 

	 (B)	 Kher Committee

	 (C)	 Ram murti Review Committee	

	 (D)	 Janardan Reddy Committee
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	 83.	 {ZåZ _| go {H$gZo ‘amîQ´>r` e¡{jH$ VH$ZrH$s \$moa_’ g¥{OV H$aZo H$m àñVmd àñVwV {H$`m h¡ ?

	 (A)	 EZ.B©.nr. – 2020			 

	 (B)	 amîQ´>r` {ejm Zr{V – 1986

	 (C)	 am__y{V© H${_Q>r			 

	 (D)	 gƒa H${_Q>r

		  Which of these has proposed to create ‘National Educational Technology Forum’ ?

	 (A)	 NEP – 2020			 

	 (B)	 National Policy on Education, 1986

	 (C)	 Ram Murti Committee		

	 (D)	 Sachchar Committee

	 84.	 {ZåZ _| ‘Am°naoeZ ãboH$~moS>© ñH$s_’ H$s g§ñVw{V H$s Wr

	 (A)	 gmO}ÊQ> `moOZm			 

	 (B)	 EZ. B©. nr. – 2020 

	 (C)	 amîQ´>r` {ejm Zr{V – 1986		 	

	 (D)	 `enmb g{_{V

		  ‘Operation Blackboard Scheme’ was recommended by 

	 (A)	 Sargeant Plan			 

	 (B)	 NEP – 2020

	 (C)	 National Policy of Education, 1986	

	 (D)	 Yashpal Committee

	 85.	 EZ.B©.nr.-2020 Zo {dÚmb` {ejm Ho$ àW_ nm±M dfm] H$mo Zm_ {X`m

	 (A)	 \$mCÝS>oeZb {ejm			 

	 (B)	 nyd© àmW{_H$ {ejm

	 (C)	 ~o{gH$ {ejm			 

	 (D)	 àmW{_H$ {ejm

	 	 NEP-2020 named the first five years of schooling as 

	 (A)	 Foundational Education	

	 (B)	 Pre Primary Education

	 (C)	 Basic Education			 

	 (D)	 Primary Education
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	 86.	 ‘OZVmpÝÌH$-ZmJ[aH$Vm Ho$ {dH$mg ’ H$mo e¡{jH$ CÔoí` Ho$ ê$n _| {H$g Am`moJ Zo {g\$m[ae H$s Wr ?

	 (A)	 hÊQ>a Am`moJ			 

	 (B)	 g¡S>ba Am`moJ

	 (C)	 _wXm{b`a Am`moJ			 

	 (D)	 amYmH¥$îUZ Am`moJ

		  Which commission recommended ‘Development of Democratic Citizenship’ as an educational aim ?

	 (A)	 Hunter Commission			 

	 (B)	 Sadler Commission

	 (C)	 Mudaliar Commission	

	 (D)	 Radha Krishnan Commission

	 87.	 ‘g_mdoer {dÚmb` g^r {dÚm{W©`m| Ho$ bm^ Ho$ {b`o gm_mÝ` {dÚmb`m| _| nwZ{Z©{_©V e¡{jH$ gmoM Ed§ Aä`mg H$s 

_m±J H$aVo h¢ ’-`h H$WZ {H$gH$m h¡ ?

	 (A)	 ñbr			   (B)	 ñnoŠQ>

	 (C)	 ë`ynmQ>©			   (D)	 pñ_V Ed§ _¡ar

		  ‘The inclusive school demands reconstructed educational thinking and practice in regular schools for the 

benefit of all students’’. Whose statement is this ?

	 (A)	 Slee			   (B)	 Specht	

	 (C)	 Lupart			   (D)	 Smith and Marry

	 88.	 ‘ [aho{~{bQ>oeZ H$mCpÝgb Am°\$ BpÊS>`m EŠQ ’ {H$g df© _| A{Y{Z`{_V hþAm ?

		  In which year ‘Rehabilitation Council of India Act’ was enacted ? 

	 (A)	 1986			   (B)	 1992	

	 (C)	 1995			   (D)	 2009

	 89.	 g_mdoer {ejm Ho$ OZH$ H$m¡Z Wo ?

	 (A)	 B©Q>mS>©			   (B)	 bwBg	

	 (C)	 hmodo			   (D)	 gw{bdZ

		  Who is the father of Inclusive education ?

	 (A)	 Itard			   (B)	 Louis	

	 (C)	 Howe			   (D)	 Sullivan
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	 90.	 RPWD  EŠQ> Ho$ AZwgma {ZåZ{b{IV _| go H$m¡Z-gr pñW{V ÑpîQ>hrZ Ho$ {b`o AZwHy$b h¡ ?

	 (A)	 ÑpîQ> H$m Am§{eH$ A^md 

	 (B)	 ÑpîQ> Ho$ joÌ _| 30 {S>J«r Ho$ H$moU VH$ gr{_V H$aZo Ho$ {b ò {ZYm©[aV 

	 (C)	 ÑpîQ> VrúUVm 2/60 go H$_ h¡

	 (D)	 ~ohVa Am±I _| Ñí` VrúUVm 10/200(ñZobZ) go H$_ h¡

		  According to RPWD act, which of the following condition is suited for blindness ?

	 (A)	 Partial absence of vision

	 (B)	 Limited in the field of vision subtending an angle of 30 degrees

	 (C)	 Visual Activity is less than 2 /60

	 (D)	 Visual Activity is less than 10/200 (Snellen) in the better eye

	 91.	 ÑpîQ>~m{YVm| H$m amîQ´>r` g§ñWmZ pñWV h¡

	 (A)	 ZB© {X„r _|			   (B)	 nwUo _|	

	 (C)	 XohamSy>Z _|			   (D)	 O`nwa _|

		  ‘The National Institute of Visual Impaired’ is situated in 

	 (A)	 New Delhi			   (B)	 Pune	

	 (C)	 Dehradun			   (D)	 Jaipur

	 92.	 nmR²>çM`m© A{^H$ën H$m gr.AmB©.nr.nr. _m°S>b {dH${gV {H$`m J`m 

	 (A)	 ~r.Eg.ãby_ Ûmam			 

	 (B)	 S>o{Z`b ñQ>\$b~r_ Ûmam

	 (C)	 Oo. Ho$b|K_ Ûmam			 

	 (D)	 Oo. {d{b`_ Ûmam

		  CIPP model of curriculum design is developed by 

	 (A)	 B. S. Bloom			 

	 (B)	 Daniel Stufflebeam

	 (C)	 J. Kellangham			 

	 (D)	 J. Willium
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	 93.	 {dÚmb`r nmR²>`M`m© g_mO H$s naånamAm|, n`m©daU Ed§ AmXem] H$s à{VN>>m`m h¡ & `h {H$gH$m H$WZ h¡ ?

	 (A)	 S>§H$Z {J«µOob			   (B)	 Ho$a

	 (C)	 Ho$. Or. g¡`XZ			   (D)	 S>rdr

	 	 “The school curriculum is the reflection of the traditions, environment and ideals of the society”, whose 

statement is this ?

	 (A)	 Duncan Grizzel			   (B)	 Kerr

	 (C)	 K. G. Saiyidain			   (D)	 Dewey

	 94.	 EZ. gr. E\$. Q>r. B©. (2009) àH$m{eV H$s JB©

	 (A)	 EZ. gr. B©. Ama. Q>r. Ûmam			  (B)	 EZ. AmB©. Ama. E\$. Ûmam

	 (C)	 EZ. gr. Q>r. B©. Ûmam			   (D)	 EZ. E. E. gr. Ûmam

		  NCFTE (2009) was published by

	 (A)	 NCERT			   (B)	 NIRF

	 (C)	 NCTE			   (D)	 NAAC

	 95.	 AZw^dm| H$s ì`mnH$Vm, AZw^dm| H$s {d{dYVm Ed§ AZw^dm| H$s Cn`wŠVVm nmR²>çM`m© {dH$mg Ho$ {H$g gmonmZ Ho$ 

AÝVJ©V AmVo h¢ ?

	 (A)	 e¡{jH$ Amdí`H$VmAm| H$s nhMmZ	

	 (B)	A{YJ_ AZw^dm| H$m M`Z Am¡a g§JR>Z

	 (C)	 {df`-dñVw H$m M`Z Ed§ g§JR>Z	

	 (D)	 _yë`m§H$Z

		  Comprehensiveness of experiences, variety of experiences and suitability of experiences come under 

which step of curriculum development ?

	 (A)	 Identification of educational needs

	 (B)	 Selection and organization of learning experiences

	 (C)	 Selection and organization of subject matter

	 (D)	 Evaluation
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	 96.	 {ZåZ Ho$ AmYma na nmR²>çM`m© H$m A{^H$ënZ Zht {H$`m Om gH$Vm h¡

	 (A)	 {eën			   (B)	A{YJ_ à{V\$b

	 (C)	 EZ. E. E. gr. Ho$ {Xem{ZX}e	 (D)	 XjVm

		  Curriculum cannot be designed on the basis of 

	 (A)	 Craft			   (B)	 Learning outcome

	 (C)	 NAAC guidelines			   (D)	 Competency

	 97.	 ‘nmR²>çH«$_ {dH$mg Ho$ _ybñVa à{V_mZ’ H$mo {H$gZo {X`m ?

	 (A)	 {hëXm Q>m~m			   (B)	 Q>oba

	 (C)	Amobrda			   (D)	 goba, EbŠµOoÊS>a Ed§ bo{dg

		  Who has given ‘Grass Root Model of curriculum Development’ ?

	 (A)	 Hilda Taba			   (B)	 Taylor

	 (C)	 Oliver			   (D)	 Saylor, Alexender and Levis

	 98.	 {ZåZ{b{IV _| go H$m¡Z-gm amîQ´>r` nmR²>çM`m© ê$naoIm, 2005 Ho$ AÝVJ©V nmR²>çH«$_ {dH$mg Ho$  

{ZX}eH$${gÕmÝV _| gpå_{bV Zht h¢ ?

	 (A)	A{YJ_ H$mo dmñV{dH$ OrdZ Ho$ CXmhaUm| go Omo‹S>Zm

	 (B)	 narjmAm| H$mo H$jm {dÚmb` Ho$ OrdZ go Omo‹S>Zm

	 (C)	 nmR²>çH«$_ H$mo Bg àH$ma g§d{Õ©V H$aZm {H$ nmR>çnwñVH$m| Ho$ A{V[aŠV ^r kmZ Ed§ CXmhaU {X`o Om gH|$ 

	 (D)	 `h gw{ZpíMV H$aZm {H$ A{YJ_ _w»`V: {df`-kmZ na AmYm[aV hmo

		  Which of the following is not included in guiding principle for curriculum in the National curriculum  

Framework, 2005 ?

	 (A)	 Connecting learning to real life examples

	 (B)	 Integrating examinations with class school life

	 (C)	 Enhancing the curriculum to provide knowledge and examples beyond textbooks

	 (D)	 Ensuring that learning should be totally based on content knowledge
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	 99.	 {ZåZ _| go H$m¡Z-gm nmR²>çM`m© _yë`m§H$Z Ho$ ñQ>oH$ _m°S>b go gå~§{YV Zht h¡ ?

	 (A)	 nydm©nojmE§			 

	 (B)	 e¡{jH$ AZw^dm| H$mo nhMmZZm

	 (C)	 g§^{dV Ed§ g§{H«$`mË_H$ nmR²>çM`m©	

	 (D)	 g§^{dV ~Zm_ dmñV{dH$ n[aUm_

		  Which of the following is not related to stake’s model of curriculum evaluation ?

	 (A)	 Pre-requisites			 

	 (B)	 Identification of educational experiences

	 (C)	 Potential and operational curriculum

	 (D)	 Potential vs actual results

	100.	 ‘nmR²>çM`m© A{^H$ën H$m AZwemgZ AmYm[aV à{V_mZ’ AmYm[aV h¡ 

	 (A)	 ~«yZa Ho$ {gÕmÝV na			 

	 (B)	 h~©Q>© ñnoÝga Ûmam {b{IV boI na

	 (C)	 S>rdr Ho$ {ejm Xe©Z na			 

	 (D)	 \«$mo~ob Ho$ {ejm Xe©Z na

		  ‘Discipline based model of curriculum design’ is based on 

	 (A)	 Bruner’s principle			 

	 (B)	 Article written by Herbert Spencer 

	 (C)	 Dewey’s philosophy of education	

	 (D)	 Froebel philosophy of education
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	 7.	 The candidate must write his/her roll number, subject, correct question paper code, number of answered questions 

and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will 
not be evaluated and the entire responsibility will be of the candidate himself/herself.

	 8.	 The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using  
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not 
be evaluated.

	 9.	 Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.
	 10.	 Candidate should not fold the Answer Sheet (OMR Sheet).
	 11.	 You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the 

Answer Sheet (OMR Sheet) to the Room Invigilator.
	 12.	 In case of any discrepancy between the Hindi and English versions, English version will be taken as final.
	 13.	 If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will 

be disqualified from the examination.
	 14.	 No candidate will leave the examination hall until 120 minutes (two hours) are completed.
	 15.	 Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be 

provided.
	 16.	 Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet 

(OMR Sheet).

Do  not  open this  Question  booklet  until  you  are  told  to  do  so.
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